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Note ;: Four possible answers A B CandDto each question are given. Th.e c_holce which y;:u ;
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-Doo¥.

Time Allowed : 15 Minutes

Maximum Marks : 12

Cutting or filling two or more circles will result in zero mark in that questio_n___’_____;___q___
Main component of natural gas IS - ' L 7 ﬁ';;“r: oo |11
Propyne J&:{ (D) Butane =% (C) propane /24 (B) Methane Lf___{A)
A disease that causes bone and tooth damage is : e Ul 2 § in? L yFh » Ui4 |2
Jaundice Wbz (D) cholera -7 (C) Hepatitis -.,;;'IL"L,H.Y (B) Fluorosis erf’ (A)
About 99% atmosphere's mass lies with in te- Ry 4 99 L:/_J b Ut f"a"}' 3
f”-fvg 11 kilometer (D) /-:,f 15 kilometer (C) /’-f,»b/ 35 kilometer (B) /-’:b/ 30 kilometer (A)
One of the following is a Lewis Base : P < oK L e - Jizsr |4
ALCty (D) H* (C) BFy (B) NH; (A)
One of these pollutant is found in car exhaust fumes . - .;.rgi_.gut;«:" T T O 2 v i |5
H, (D) N, (C) 0, (B) €O, (A)
Matte is mixture of : = ﬁ-! & |6
Cu,0 and FeO | Cu,0 . FeO (B) FeS and CuO | FeS »CuO (A)
CuS and FeO [ CuS » FeO (D) Cu,S and FeS | Cu,S »lFeS (C)
The Conjugate acid of HPO;!— is it e .‘.!fb’ ¥ HI’OE_ 7
H,PO, (D) H,PO; (C) H,PO; (B) POy (A
Oxidation of alkenes produce : e e T i /ﬂ[ 8
Formic acid 426 (D)  Oxalic acid AMST (C) Glycol J:rJ,}L{ (B) Glyoxal J/TJJJ; (A)
The organic compounds used as drugs to control 1 ugLL;é db}ljiig_@jfégﬁﬁ.b:&.ﬁiuﬁjj@ 9
bleeding are !
Glycerides Ji»'i/.r (D) Lipids 74/ (C) Proteins <3/ (B) Vitamins >t (A)
One of the following organic compound s found in P bl LL - u‘-}ff j:‘;l;f LT _Q - J:j 22+ (10
gasoline :
CiyHag (D) CgHyy (C) C3Hg (B) CyHy (A)
Colour of lodine is : e ¥ T |11
Red { (D) purple £ (C) Blue I (B) White 45~ (A)
Specific heat capacity of water is o U= J_'j._vﬂ ‘J-Il'-‘-lf_\-;f«.‘-‘;j Lfr‘{ J L]E 12
24 Jg 'K (D) 24kJgT KT (C) 42 Jg 'K (B) 42kJg KT (A '
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(i) What s ester functional group? muwm.ﬁf

(v) Define the ketonic functional group with general
(vi) What do you know about anthracite?
(vii) Describe the hydrogenation of ethene and ethyne.
(wiil) How does combustion of methane take place?
10 S.VtrlhlhaﬂlmtnlnyFNE{i}quutlﬂm: :
L arineJb Sebrudd

()] Why is a salt neutral? Explain with an example.
Zppagilnits

(ii) Name an acid used in the preservation of food
(lif) How can wu]uﬂlhd that Pb (OH)YNO, ".".L...JL-.Q-!.{ i Pb (OH)NO, f;ﬂﬂ# o

is a basic salt? T’-El??(_ -Z'.'

(iv) How are proteins formed?
(v) How is gelatin obtained? ri, g J“‘b
(vl) What are the effects of temporary hardness in water? We .:-UI C‘r J'.'.
(vi) Mention disadvantages of detergents. ke .:-Bld" J:- ]
(vili) What s difference between biodegradable and fq.J)u’J.leH;fﬁjéyuwM,{sm
non-biodegradable substances?
10 4. Write short answers to any FIVE (5) questions : o =R /' L = (8) ‘t - d i
(i) What is global warming? fe L JE )
(ii) Write two effects of acid rain. & -&U'uﬂi;]ﬁ
{ﬂi]mmmmmmmmﬂm 5‘.‘.‘{} --Uiﬂluﬁ&.bﬁ.'
€O, (oxes ol carbor),  -g4/ywE.(€0,1C0) HSTE

(iv) Give sources of CO a
chalcopyrte,  ~BL i ol

(v) Write chemical formulae of copper glance and
(vi) How-mmII:IIMn-hﬂmmnad'? Give reaction. -JJ.'.,PLF ﬁwpr .

(vil) Write a note on granulation of urea.
(wiil) \Write two uses of petroleum ether.



